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Table F.4.4: Derivation of Test Requirements (RRM tests)
	Test 
	Test Parameters in TS 25.133
	Test Tolerance
(TT)
	Test Requirement in TS 34.121

	8.2 Idle Mode Tasks
	
	
	

	8.2.2 Cell Re-Selection
	
	
	

	8.2.2.1 Scenario 1: Single carrier case
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].



	
	During T1 and T2:

Cells 1 and 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

Cells 3, 4, 5, 6:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB
Ior(3, 4, 5, 6) = -69.73 dBm


	During T1 and T2:

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

-0.50 dB

-0.50 dB

-0.50 dB

-0.50 dB

+0.03 dB for Ior(3, 4, 5, 6)


	During T1 and T2:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ior(3, 4, 5, 6) + TT



	
	During T1:

Ior(1) = -62.73 dBm 

Ior(2) = -59.73 dBm 


	During T1:

-0.27 dB for Ior(1)

+0.13 dB for Ior(2)


	During T1:

Ior(1) + TT

Ior(2) + TT 



	
	During T2:

Ior(1) = -59.73 dBm 

Ior(2) = -62.73 dBm


	During T2:

+0.13 dB for Ior(1)

-0.27 dB for Ior(2)


	During T2:

Ior(1) + TT

Ior(2) + TT



	8.2.2.2 Scenario 2: Multi carrier case
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].



	
	Channel 1 during T1 and T2:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

Cells 3 and 4:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	Channel 1 during T1 and T2:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB

-0.80 dB

-0.80 dB

-0.80 dB

-0.80 dB


	Channel 1 during T1 and T2:
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	
	Channel 1 during T1:

Ior(1) = -73.39 dBm 

Ior(3, 4) = -77.39 dBm

Ioc(1) = -70.00 dBm


	Channel 1 during T1:

-0.01 dB for Ior(1)

-0.01 dB for Ior(3,4)

0.00 dB for Ioc(1)


	Channel 1 during T1:

Ior(1) + TT

Ior(3, 4) + TT

Ioc(1) + TT



	
	Channel 1 during T2:

Ior(1) = -67.75 dBm 

Ior(3, 4) = -74.75 dBm

Ioc(1) = -70.00 dBm


	Channel 1 during T2:

+0.75 dB for Ior(1)

-0.05 dB for Ior(3, 4)

-1.80 dB for Ioc(1)


	Channel 1 during T2:

Ior(1) + TT

Ior(3, 4) + TT 

Ioc(1) + TT



	
	Channel 2 during T1 and T2:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

Cells 5 and 6:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	Channel 2 during T1 and T2:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB

-0.80 dB

-0.80 dB

-0.80 dB

-0.80 dB


	Channel 2 during T1 and T2:
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	
	Channel 2 during T1:

Ior(2) = -67.75 dBm 

Ior(5, 6) = -74.75 dBm

Ioc(2) = -70.00 dBm


	Channel 2 during T1:

+0.75 dB for Ior(2)

-0.05 dB for Ior(5, 6)

-1.80 dB for Ioc(2)


	Channel 2 during T1:

Ior(2) + TT

Ior(5, 6) + TT 

Ioc(2) + TT



	
	Channel 2 during T2:

Ior(2) = -73.39 dBm 

Ior(5, 6) = -77.39 dBm

Ioc(2) = -70.00 dBm


	Channel 2 during T2:

-0.01 dB for Ior(2)

-0.01 dB for Ior(5,6)

0.00 dB for Ioc(2)


	Channel 2 during T2:

Ior(2) + TT

Ior(5, 6) + TT 

Ioc(2) + TT



	8.2.3 UTRAN to GSM Cell Re-Selection
	TBD
	
	

	8.2.3.1 Scenario 1: Both UTRA and GSM level changed
	
[image: image1.wmf]or

c

I

E

CPICH

_

 = -10 dB
Ior/Ioc = 0 dB


	0.1 dB for 
[image: image2.wmf]or

c

I

E

CPICH

_


0.3 dB for Ior/Ioc

0.3 dB for Ioc/RXLEV
	Formulas:

[image: image3.wmf]or

c

I

E

CPICH

_

 = ratio + TT

Ior/Ioc = ratio + TT

(Ioc/Rxlev)test requirement = (Ioc/Rxlev)minimum requirement + TT
Ior/Ioc = 0.3 dB



[image: image4.wmf]or

c

I

E

CPICH

_

= -9.9 dB:
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	8.2.3.2 Scenario 2: Only UTRA level changed
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Ior/Ioc = ratio + TT

(Ioc/Rxlev)test requirement = (Ioc/Rxlev)minimum requirement + TT
Ior/Ioc = 20.3 dB
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(Ioc/Rxlev)test requirement = (Ioc/Rxlev)minimum requirement + TT
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	8.2.4 FDD/TDD cell re-selection
	TBD
	
	

	8.3 UTRAN Connected Mode Mobility
	TBD
	
	

	8.3.1 FDD/FDD Soft Handover
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].

	
	During T1 and T2/T3/T4/T5/T6:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

Relative delay of paths received from cell 2 with respect to cell 1 = {-148 … 148} chips
	During T1 and T2/T3/T4/T5/T6:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB

0.5  chips


	During T1 and T2/T3/T4/T5/T6:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
{-148+TT … 148-TT} chips

	
	During T1:

Already covered above

	During T1:

Covered above


	During T1:

Already covered above



	
	During T2/T3/T4/T5/T6:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	During T2/T3/T4/T5/T6:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB


	During T2/T3/T4/T5/T6:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	8.3.2 FDD/FDD Hard Handover
	
	
	

	8.3.2.1 Handover to intra-frequency cell
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].



	
	During T1 and T2 / T3:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	During T1 / T2 / T3:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB


	During T1 and T2 / T3:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	
	During T1:

Already covered above

	During T1:

Covered above


	During T1:

Already covered above



	
	During T2 / T3:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	During T2 / T3:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB


	During T2 / T3:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	8.3.2.2 Handover to inter-frequency cell
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].



	
	Channel 1 during T1 and T2 / T3:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	Channel 1 during T1 and T2 / T3:

+0.80 dB

+0.80 dB

+0.80 dB

+0.80 dB


	Channel 1 during T1 and T2 / T3:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	
	Channel 2 during T1:

Not applicable

	Channel 2 during T1:

Not applicable


	Channel 2 during T1:

Not applicable



	
	Channel 2 during T2 / T3:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	Channel 2 during T2 / T3:
+0.80 dB

+0.80 dB

+0.80 dB

+0.80 dB


	Channel 2 during T2 / T3:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	8.3.3 FDD/TDD Handover
	TBD
	
	

	8.3.4 Inter-system Handover form UTRAN FDD to GSM
	TBD
	
	

	8.3.5 Cell Re-selection in CELL_FACH
	
	
	

	8.3.5.1 One frequency present in the neighbour list
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].

	
	During T1 and T2:

Cells 1 and 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

Cells 3, 4, 5, 6:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB
Ior(3, 4, 5, 6) = -69.73 dBm


	During T1 and T2:

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

-0.50 dB

-0.50 dB

-0.50 dB

-0.50 dB

-0.50 dB

+0.03 dB for Ior(3, 4, 5, 6)
	During T1 and T2:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ior(3, 4, 5, 6) + TT



	
	During T1:

Ior(1) = -62.73 dBm 

Ior(2) = -59.73 dBm 


	During T1:

-0.27 dB for Ior(1)

+0.13 dB for Ior(2)


	During T1:

Ior(1) + TT

Ior(2) + TT 



	
	During T2:

Ior(1) = -59.73 dBm 

Ior(2) = -62.73 dBm


	During T2:

+0.13 dB for Ior(1)

-0.27 dB for Ior(2)


	During T2:

Ior(1) + TT

Ior(2) + TT



	8.3.5.2 Two frequencies present in the neighbour list
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].

	
	Channel 1 during T1 and T2:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

Cells 3 and 4:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

	Channel 1 during T1 and T2:

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

-0.70 dB

-0.70 dB

-0.70 dB

-0.70 dB

-0.70 dB


	Channel 1 during T1 and T2:
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT


	
	Channel 1 during T1:

Ior(1) = -71.85 dBm 

Ior(3, 4) = -76.85 dBm

Ioc(1) = -70.00 dBm


	Channel 1 during T1:

+0.05 dB for Ior(1)

+0.05 dB for Ior(3,4)

0.00 dB for Ioc(1)


	Channel 1 during T1:

Ior(1) + TT

Ior(3, 4) + TT

Ioc(1) + TT



	
	Channel 1 during T2:

Ior(1) = -67.75 dBm 

Ior(3, 4) = -74.75 dBm

Ioc(1) = -70.00 dBm


	Channel 1 during T2:

+0.75 dB for Ior(1)

-0.05 dB for Ior(3, 4)

-1.60 dB for Ioc(1)


	Channel 1 during T2:

Ior(1) + TT

Ior(3, 4) + TT 

Ioc(1) + TT



	
	Channel 2 during T1 and T2:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

Cells 5 and 6:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

	Channel 2 during T1 and T2:

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

-0.70 dB

-0.70 dB

-0.70 dB

-0.70 dB

-0.70 dB

	Channel 2 during T1 and T2:
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT
Ec/Ior ratio + TT


	
	Channel 2 during T1:

Ior(2) = -67.75 dBm 

Ior(5, 6) = -74.75 dBm

Ioc(2) = -70.00 dBm


	Channel 2 during T1:

+0.75 dB for Ior(2)

-0.05 dB for Ior(5, 6)

-1.60 dB for Ioc(2)


	Channel 2 during T1:

Ior(2) + TT

Ior(5, 6) + TT 

Ioc(2) + TT



	
	Channel 2 during T2:

Ior(2) = -71.85 dBm 

Ior(5, 6) = -76.85 dBm

Ioc(2) = -70.00 dBm


	Channel 2 during T2:

+0.05 dB for Ior(2)

+0.05 dB for Ior(5,6)

0.00 dB for Ioc(2)


	Channel 2 during T2:

Ior(2) + TT

Ior(5, 6) + TT 

Ioc(2) + TT



	8.3.6 Cell Re-selection in CELL_PCH
	
	
	

	8.3.6.1 One frequency present in the neighbour list
	Same as 8.2.2.1

 
	Same as 8.2.2.1

 
	Same as 8.2.2.1
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	Formulas:
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 = ratio + TT

Ior/Ioc = ratio + TT

Ioc unchanged

Ior/Ioc = 10.57 dB
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	8.3.6.2 Two frequencies present in the neighbour list
	Same as 8.2.2.2

 
	Same as 8.2.2.2

 
	Same as 8.2.2.2
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Ior/Ioc = 2.2 dB

Note: Parameters are valid for cell 1 at time T2 and cell 2 at time T1
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	Formulas:
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 = ratio + TT

Ior/Ioc = ratio + TT

Ioc unchanged

Ioc ratio unchanged

Ior/Ioc = 2.5 dB
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	8.3.7 Cell Re-selection in URA_PCH
	
	
	

	8.3.7.1 One frequency present in the neighbour list
	 Same as 8.2.2.1


	Same as 8.2.2.1

 
	Same as 8.2.2.1

 

	
	
	
	

	8.3.7.2 Two frequencies present in the neighbour list
	Same as 8.2.2.2


	Same as 8.2.2.2

 
	Same as 8.2.2.2

 

	
	
	
	

	8.4 RRC Connection Control
	TBD
	
	

	8.4.1 RRC Re-establishment delay
	TBD
	
	

	8.4.2 Random Access
	 RACH  power   difference nominal  3dB ± 2dB UE setting uncertainty
	Measurement TT:Power  difference ± 1dBMaximum Power-1dB / +0.7dB
	Test parameter settings unchanged.Power measurement:Upper limit   +TT  Lower limit    -TT  

	8.5 Timing and Signalling Characteristics
	TBD
	
	

	8.5.1 UE Transmit Timing
	TBD
	
	

	8.6 UE Measurements Procedures
	
	
	

	8.6.1 FDD intra frequency measurements
	
	
	

	8.6.1.1 Event triggered reporting in AWGN propagation conditions
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].

	
	During T1 / T2 / T3:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	During T1 / T2 / T3:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB


	During T1 / T2 / T3:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	
	During T1/T3 only :

Already covered above

	During T1/T3 only:

Covered above


	During T1/T3 only:

Already covered above



	
	During T2 only:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	During T2 only:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB


	During T2 only:

Ec/Ior ratio + TT
Ec/Ior ratio + TT

Ec/Ior ratio + TT
Ec/Ior ratio + TT


	8.6.1.2 Event triggered reporting of multiple neighbours in AWGN propagation condition
	TBD
	
	

	8.6.1.3 Event triggered reporting of two detectable neighbours in AWGN propagation condition
	TBD
	
	

	8.6.1.4 Correct reporting of neighbours in fading propagation condition
	TBD
	
	

	8.6.2 FDD inter frequency measurements
	TBD
	
	

	8.6.2.1 Correct reporting of neighbours in AWGN propagation condition
	TBD
	
	

	8.6.2.2 Correct reporting of neighbours in Fading propagation condition
	TBD
	
	

	8.6.3 TDD measurements
	TBD
	
	

	8.6.3.1Correct reporting of TDD neighbours in AWGN propagation condition
	TBD
	
	

	8.7 Measurements Performance Requirements
	TBD
	
	

	8.7.1 CPICH RSCP
	TBD
	
	

	8.7.1.1 Intra frequency measurements accuracy
	TBD
	
	

	8.7.1.2 Inter frequency measurement accuracy
	TBD
	
	

	8.7.2 CPICH Ec/Io
	
	
	

	8.7.1.1 Intra frequency measurements accuracy
	 see table 8.7.1.1.1.1 andtable 8.7.1.1.1.2
	±1 dB for Ioc±0.3 dB for Ior/Ioc±0.1dB for….._Ec/Ior
	Any TT applied to the nominal setting shall fulfil:Test 1 (absolute and relative): Io shall not go below -69dBm Test 2(absolute and relative): Io shall not go above -50 dBmTest 3 (absolute and relative): Io shall not go below -94 dBm Ior/Ioc + TTTT on top of  UE measurement accuracy:Absolute±1.0 dB for Ioc±0.3 dB for Ior/Ioc ±0.1dB for CPICH_Ec/Ior ∑ 1.4dBRelative±0.3 dB for Ior/Ioc  (cell1)±0.3 dB for Ior/Ioc  (cell2)±0.1dB for CPICH_Ec/Ior  (cell1)±0.1dB for CPICH_Ec/Ior  (cell2)∑ 0.8dB 

	8.7.1.2 Inter frequency measurement accuracy
	See table 8.7.1.2.1.1 andtable 8.7.1.2.1.2
	±1 dB for Ioc±0.3 dB for Ioc1/Ioc2±0.3 dB for Ior/Ioc±0.1dB for ….._Ec/Ior
	Any TT applied to the nominal setting shall fulfil:Test 1: Io shall not go above -50 dBmTest 2: Io shall not go below -94 dBmIor/Ioc + TTTT on top of  UE measurement accuracy:±0.3 dB for Ioc1/Ioc2±0.3 dB for Ior/Ioc  (cell1)±0.3 dB for Ior/Ioc  (cell2)±0.1dB for CPICH_Ec/Ior  (cell1)±0.1dB for CPICH_Ec/Ior  (cell2)∑ 1.1 dB

	8.7.2 CPICH Ec/Io
	
	
	

	8.7.2.1 Intra frequency measurements accuracy
	  table 8.7.2.1.1.1 and

table 8.7.2.1.1.2
	±1 dB for Ioc

±0.3 dB for Ior/Ioc

±0.1dB 

for ….._Ec/Ior
	Any TT applied to the nominal setting shall fulfil:

Test 1(absolute and relative): Io shall not go above -50 dBm

Test 2 (absolute and relative): Io shall not go below -87dBm 

Test 3 (absolute and relative): Io shall not go below -94 dBm

CPICH Ec/Io shall stay in the  UE accuracy ranges   

Ior/Ioc + TT

TT on top of  UE measurement accuracy:

Absolute

±0.3 dB for Ior/Ioc 

±0.1dB for CPICH_Ec/Ior 

∑ 0.4dB

Relative

  Ioc1=Ioc2   

±0.3 dB for Ior/Ioc  (cell1)

±0.3 dB for Ior/Ioc  (cell2)

±0.1dB for CPICH_Ec/Ior  (cell1)

±0.1dB for CPICH_Ec/Ior  (cell2)

∑ 0.8dB



	8.7.2.2 Inter frequency measurement accuracy
	 table 8.7.2.2.2.1 and

table 8.7.2.2.2.2
	±1 dB for Ioc

±0.3 dB for Ioc1/Ioc2

±0.3 dB for Ior/Ioc

±0.1dB

 for ….._Ec/Ior
	Any TT applied to the nominal setting shall fulfil:

Test 1: Io shall not go above -50 dBm

Test 2: Io shall not go below -87 dBm

Test 3: Io shall not go below -94 dBm

Ior/Ioc + TT

TT on top of  UE measurement accuracy:

  Ioc1=Ioc2.   

±0.3 dB for Ior/Ioc  (cell1)

±0.3 dB for Ior/Ioc  (cell2)

±0.1dB for CPICH_Ec/Ior  (cell1)

±0.1dB for CPICH_Ec/Ior  (cell2)

∑ 0.8 dB


	8.7.3 UTRA Carrier RSSI
	 Table 8.7.3.1.2
	±1 dB for Ioc

±0.3 dB for Ioc1/Ioc2

±0.3 dB for Îor/Ioc


	Any TT applied to the nominal setting shall fulfil:

Test 1 (absolute): Io shall not go above -50 dBm

Test 2 (absolute): Io shall not go below -69 dBm

Test 3 (absolute and relative): Io shall not go below -94 dBm

Ior/Ioc + TT

TT on top of UE measurement accuracy: 

Absolute tests:

Test 1: 

Max TT= Iomax – Ionominal 

Ionominal = -51.15 dBm
Iomax = Iocmax +Iormax = (-53.5 dBm + 1dB) + (-52.5 dBm – 1.45 dB + 0.3 dB) = -50.0 dBm

=> Max TT = 1.15 dB

Min TT = Iomin - Io

Iomin = Iocmin + Iormin = (-53.5 dBm –1 dB) + (-54.5 dBm – 1.45 dB – 0.3 dB) = - 52.3 dBm

=> Min TT = -1.15 dB

Test 2: 

Max TT= Iomax – Ionominal 

Ionominal = - 67.9 dBm

Iomax = Iocmax + Iormax = (-69.27 dBm + 1dB) + (-68.27 dBm – 4.4 dB + 0.3 dB) = -66.8 dBm

=> Max TT = 1.1 dB

Min TT = Iomin - Io

Iomin = Iocmin + Iormin = (-69.27 dBm – 1 dB) + (-70.27 dBm – 4.4 dB – 0.3 dB) = -69.0 dBm

=> Min TT = -1.1 dB

Test 3 (Band I): 

Max TT= Iomax – Ionominal 

Ionominal = -93 dBm

Iomax = Iocmax + Iormax + No = (-93.46 dBm + 1dB) + (-92.46 dBm – 9.24 dB +0.3 dB) + -99 dBm = -91.2

=> Max TT = 1.8 dB

Min TT = Iomin - Io

Iomin = Iocmin + Iormin = (-93.46 dBm – 1 dB) + (-94.46 dBm – 9.24 dB – 0.3 dB) = -94.0 dBm

=> Min TT = -1.0 dB

The same TT for Band II and Band III
Relative tests: 

Test 3 (Band I): 

TT = ±10log (Io1max / Io2 min)

Io1max = Ioc1max + Ior1max + No = (-93.46 dBm +1 dB) + (-92.46 dBm – 9.24 dB + 0.3 dB) + -99 dBm = -91.16 dBm

Io2 min = Ioc2min + Ior2min + No = (-92.46 dBm – 0.3 dB) + (-92.76 dBm – 9.24 dB –0.3 dB) + -99 dBm = -91.46 dBm
=> TT = ±0.3 dB 

For a UE with very good NF impact of No shall be neglected. Then the same calculations give TT = ±0.4 dB

Hence the final TT = ±0.4 dB

The same TT for Band II and Band III


	8.7.3B Transport channel BLER
	TBD
	
	

	8.7.3C UE Transmitted power
	Accuracy upper limit

Accuracy lower limit

Depends on PUEMAX see table 8.7.3C.2.1
	0.7 dB
	Formula: Upper accuracy limit + TT

 

Lower accuracy limit – TT

Add and subtract TT to all the values in table 8.7.3C.2.1.

	8.7.4 SFN-CFN observed time difference
	T able 8.7.4.1.2 and Table 8.7.4.2.2
	±1.0 dB for Ioc

±0.3 dB for Ior/Ioc

±0.5 chips for the actual SFN-CFN observed time difference
	Intra and inter frequency case:

Test 1: Io shall not go above -50 dBm

Test 2: No restrictions on Io value

Test 3: Io shall not go below -94 dBm (Band 1), or below –92 dBm (Band II) or below –91 dBm (Band III)

Îor/Ioc + TT

TT on top of UE measurements accuracy: 

SFN-CFN observed time difference: 1.0 chips + TT



	8.7.5.1 SFN-SFN observed time difference type 1
	T able 8.7.5.1.2
	±1.0 dB for Ioc

±0.3 dB for Ior/Ioc

±0.5 chips for the actual SFN-SFN observed time difference
	Test 1: Io shall not go above -50 dBm

Test 2: No restrictions on Io value

Test 3: Io shall not go below -94 dBm (Band 1), or below –92 dBm (Band II) or below –91 dBm (Band III)

Îor/Ioc + TT

TT on top of UE measurements accuracy: 

SFN-SFN observed time difference: 1.0 chips + TT

	8.7.6 UE Rx-Tx time difference
	Io –10.9 dB = Ioc,
Test 1: Io = -94 dBm

Test2 : Io = -72dBm

Test3 : Io = -50dBm

Timing Accuracy ( 1.5 chip 
	1 dB for Ioc

0.3 dB for Ior/Ioc

[0.5 chip for timing accuracy]
	Test 1: Io = -92.7 dBm, 

Ioc = ‑103.6 dBm

Formula:

Ioc*(1-TTIoc+ (Ior/Ioc-TTIor/Ioc)) (
 -94

Test 2: unchanged (no critical RF parameters)

Test 3: Io = -51.3 dBm, Ioc = ‑62.2 dBm

Formula:

Ioc*(1+TTIoc+ (Ior/Ioc+TTIor/Ioc)) ( -50

Timing accuracy [(2.0] chip

Formulas:

Upper limit +TT

Lower limit –TT

	8.7.7 Observed time difference to GSM cell
	TBD
	
	

	8.7.8 P-CCPCH RSCP
	TBD
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